12.3 Surface Area of Pyramids and Cones

pyramid - a polyhedron in which the base is a polygon and the lateral faces
are triangles with a common vertex, called the vertex of the pyramid
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Pyramid Regular pyramid

regular pyramid - has a regular polygon for a base, and the segment joining
the vertex and the center of the base is perpendicular to the base; the

lateral faces of a regular pyramid are congruent isosceles triangles

slant height - the height of a lateral face of a reqular pyramid

Gl )0 . 2 ISt g
ALV et & L= ( 19)* + ( %)"
: 3 ). ) e IR e N ":;»,_ 2
Lp=fm L5 =3%9

THEOREM i shook W

THEOREM 12.4 Surface Area of a Regular Pyramid
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T'he surface area S of a regular pyramid is
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cone - has a circular base and vertex not in the same plane as the base

right cone - a cone in which the segment joining the vertex and the center
of the base is perpendicular to the base, the slant height is the distance
between the vertex and a point on the base edge

lateral surface of a cone - consists of all segments that connect the vertex
with point on the base edge
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-, THEOREM 12.5 Surface Area of a Right Cone

The surface area S of a right cone is
S=B+,Cl =ar’ + 7rl,

where Bis the area of the base, Cis the

I+ circumference of the base, r is the radius of
the base, and £ is the slant height.

S=B+%C£=1rr2+'url
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Ex 3: What is the surface area of the right cone?
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Ex 4. The traffic cone can be approximated by a right cone with radius 5.7
inches and height 18 inches. Find the approximate lateral area of the cone.

12 = (50)* + (1%Y
£? = 22.49 + 324
A% = 250.449
d % 1%.8% in




